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What is this life, full of care.
We have no time to stand and stare?
No time to see in broad daylight
Streams full of stars like skies at night
1 What is the picture this poem has painted?
1 aman standing by himself
2. adark sky with lots of stars
3. beautiful streams sparkling in the sea
4. stars shining brightly in broad daylight
2. What is the poet’s message to the reader?
1 we should lead acareful life
2. we must not pollute our streams
3. we must work hard during the day
4. we should take time off to enjoy nature
3. What is the tone of the poem?
I. satirical 2. sarcastic

3. persuasive 4. argumentative

You will be amazed by the quality of the sound you hear
with the EarMate-63. Its superior Class D circuitry gives you a
clearer, more natural sound with less distortion. You will also find
that your batteries last twice as long with Class D circuitry, so you
spend half as much on batteries.

For less than 300 with an introductory offer, you can try
revolutionary hearing aid for yourself. You can be assured that
quality is not sacrificed. Compare the EarMate to hearing aids
selling for more than 1,000 and decide for yourselfwhich works
best for you. You can try the EarMate-63 risk-free for 45 days in
your own home!

You can request free information by calling toll-free:

1-800-843-3773 dept. 86-519 or writing to: Hearing Help Express

105 N First St. Dept 86-519, Dekalb, IL 60115

/

4. Who is most likely to be interested in this product?
|. opticians 2. hearing-aids users
3. electrical engineers 4. shoppers for new products

5. What makes the Ear-Mate-63 a higher quality product?

1 an economical size
2. long size batteries
3. Class D circuitry
4. sound distraction equipment
6- How long can you test the Ear-mate-63 before paying?
I.  about a month 2. amonth and a half
3. halfa month 4. about2 months
7- What is true about the Ear-Mate-63?
1 It is cheaper than other products of the same kind.
2. It is more expensive but its quality is much better.
3. It is about the same price but its quality is far better.
4. It is about the same price and quality but it offers a better

service.

Chickpea Soup

3/8 cup chicken broth

2 carrots, thinly sliced

3 cloves garlic, minced

1/2 tsp. dried sage

1/4 tsp. pepper

2 cups cooked chickpeas, red kidney beans or black beans

4 cups packed, tom spinach or watercress leaves

Bright the broth to boil over moderate heat. Add carrots,
garlic, sage and pepper, and cook for five minutes or until carrots
are tender. Add 3/4 cup water and chickpeas, and return to boil.
Reduce to simmer, cover, and cook for seven minutes. Stir in

greens and cook for one minute. Serves four.

8. Which ingredient is NOT mentioned as part of the recipe for
chicken soup?
1 carrots 2. spinach
3. minced garlic 4. chicken breast
9. How many people is this dish ideal for?
(|

35 4.1



10. Your friend told you about his trip to New York. You show

15.

16.

your interest by saying. "

1 What asurprise 2. Fantastic

3. Bon Voyage 4. Have a nice day

. You are in arestaurant. The waiter asks. “Are you ready to

order?" You reply.............
1 You're ready to serve
2. We prefer chicken to beef

3. We'd like to have a table for three

4. Please give USa minute to look at the menu

You would like to get two movie tickets. You call the box
office and say, m.......... "

1 Could you buy me two tickets

2. Can 1reserve two tickets, please

3. Shall llook you for two tickets

4. May 1help you with two tickets

. You hand in your report late. You say to your teacher.2

1 That's quite all right
2. | apologize for the delay
3. Please accept my sympathy

4. Sorry. It's better late than never

............. it was clear that the accused was having significant

psychiatric problems, the appeals court threw out his life

sentence.
1 Because 2. Even though
3. Given 4. So

218

17. The Great Wall of China is reputed as one of the seven

construction wonders in the world,........... for its long
history........... for its massive construction size, along with
its unique architectural style.
1 either...or 2. notonly..... but also
3. rather... than 4. neither.....nor
David Beckham was banned from driving, but shortly
afterwards he got his driving license back........... it was
safe for Beckham to drive in his own car.

1 which broke the law

2. because thejudge said that

3. even if against the traffic law

4. in addition to social practice

. Based on what the man is wearing, we can assume that he is

1 he does mind sitting
2. he prefers standing to sitting
3. hecan't wait to see the doctor

4. heis afraid he might hurt himself

20. Why did the man say: [fyou don’t mind. I'll just stand”? It is

because...........

1 he does mind sitting

2. he prefers standing to sitting
3. hecan't wait to see the doctor

4. heis afraid he might hurt himself

' Disney World "Epcot Center" is a perfect vacation for clients

who like to stretch their minds........... Their bodies.
1 like 2. than
3. within 4, aswell as

Unless the plant gets enough water for its root to absorb, it

will soon
. omit 2. delete
3 erase 4. perish
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What is this life, full of care,
We have no time to stand and stare?
No time to see in broad daylight
Streams full of stars like skies at night
1. What is the picture this poem has painted?
1 amanstanding by himself
2. adark sky with lots of stars
3. Dbeautiful streams sparkling in the sea
4. stars shining brightly in broad daylight
2. What is the poet’s message to the reader?
we should lead a careful life
we must not pollute our streams
we must work hard during the day
4. we should take time off to enjoy nature
3. What is the tone of the poem?
1. satirical 2. sarcastic
3. persuasive 4. argumentative
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You will be amazed by the quality of the sound you hear with the EarMate-63.
Its superior Class D circuitry gives you a clearer, more natural sound with less
distortion. You will also find that your batteries last twice as long with Class
D circuitry, so you spend halfas much on batteries.

For less than 300 with an introductory offer, you can try revolutionary
hearing aid for yourself. You can be assured that quality is not sacrificed.
Compare the EarMate to hearing aids selling for more than $1,000 and decide
for yourself which works best for you. You can try the EarMate-63 risk-free

for 45 days in your own home!

You can request free information by calling toll-free:
1-800-843-3773 dept. 86-519 or writing to .Hearing Help Express 105 N First

St. Dept 86-519, Dekalb, IL 60115

4. Who is most likely to be interested in this product?

1 opticians 2. hearing-aids users

3. electrical engineers 4. shoppers for new products
5. What makes the Ear-Mate-63 a higher quality product?

1 aneconomical size 2. long size batteries

3. Class D circuitry 4 sound distraction equipment
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6. How long can you test the Ear-mate-63 before paying?
1 aboutamonth 2. amonth and ahalf
3. halfamonth 4. about 2 months

7. What is true about the Ear-Mate-63?
1 Itis cheaper than other products of the same kind.
2. It is more expensive but its quality is much better.
3. Itis about the same price but its quality is far better.

4. It is about the same price and quality but it offers a better service.



3
loC
hr 2 V%
» £

Chickpea Soup

3/8 cup chicken broth

2 carrots, thinly sliced

3 cloves garlic, minced

1/2 tsp. dried sage

1/4 tsp. pepper

2 cups cooked chickpeas, red kidney beans or black beans

4 cups packed, tom spinach or watercress leaves
Bright the broth to boil over moderate heat. Add carrots, garlic, sage and
pepper, and cook for five minutes or until carrots are tender. Add 3/4 cup water
and chickpeas, and return to boil. Reduce to simmer, cover, and cook for

seven minutes. Stir in greens and cook for one minute. Serves four.

8. Which ingredient is NOT mentioned as part o f the recipe for chicken soup?
1 carrots 2. spinach 4 1 1 1 1 1 41 0.67
3. minced garlic 4. chicken breast
9. How many people is this dish ideal for?
1.1 2. 4
3. 5 4. 7



10.

11

Your friend told you about his trip to New York. You show your interest
by saying. “ .......... 1”

1 Whatasurprise 2. Fantastic

3. Bon Voyage 4. Have anice day

You are in arestaurant. The waiter asks. “Are you ready to order?”
You reply,...........
1 You're ready to serve

2. We prefer chicken to beef

3. We'd like to have atable for three

4. Please give us a minute to look at the menu

. You would like to get two movie tickets. You call the box office and say,

7 9’

1 Could you buy me two tickets
2. Can | reserve two tickets, please

3. Shall I look you for two tickets

A

May | help you with two tickets

1

A
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13. You hand in your report late. You say to your teacher, “ .......
1. That's quite all right
2. | apologize for the delay
3. Please accept my sympathy
4. Sorry. It'sbetter late than never
14.......... it was clear that the accused was having significant psychiatric
problems, the appeals court threw out his life sentence.
1 Because 2. Even though
3. Given 4. So

15. Disney World “Epcot Center” is a perfect vacation for clients who like to

stretch their minds.............. their bodies.
1 like 2. than
3. within 4, aswell as

16. Unless the plant gets enough water for its root to absorb, it will soon

1 omit 2. delete

3. erase 4. perish
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17. The Great Wall of China is reputed as one of the seven construction

wonders in the world,........... for its long history............ for its massive
construction size, along with its unique architectural style.
1. either....or 2. notonly.....but also

3. rather.....than 4. neither.....nor

. David Beckham was banned from driving, but shortly afterwards he got
his driving license back........... it was safe for Beckham to drive in his
own car.

1. which broke the law

2. because thejudge said that

3. evenif against the traffic law

4. in addition to social practice

e ol
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19. Based on what the man is wearing, we can assume that he is a/an...........
1 he does mind sitting
2. he prefers standing to sitting
001 1 1 1 08
3. he can’'t wait to see the doctor

4. heis afraid he might hurt himself

20. Why did the man say: If you don’t mind. I'll just stand”? It is
because...........
1 he does mind sitting
2. he prefers standing to sitting
3. he can't wait to see the doctor

4. heis afraid he might hurt himself
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DATE  4/9/2006
TIME  2:20

LISREL 854
BY
Karl G J'reskog & Deg S'rbom

This program is published exclusively by
Scientific Software International, Inc.
7383 N. Lincoln Avenue, Suite 100
Lincolnwood, IL 60712, U.S.A.
Phone: (800)247-6113, (847)675-0720, Fax: (847)675-2140
Copyright by Scientific Software International, Inc., 1981-2002
Use of this program is subject to the terms specified in the
Universal Copyright Convention.
Website: www.ssicentral.com

Tl
IDA NI=33 NO=576 NG-1 MM
%—'c MnalysisLISREL\MODEL10.dsf’ NG1

1234567891011 121342 228324
526212820 0D3L3RBBI1I6I7IBIO 0/
TI\,B_I\D(ZGDI FRNY=27 NK=L NE=6 LY=F ,FI DX, Fl BE= , FI GA=FUH PHSY,FR PS=DI,FR TE-DI,FR

LE
PL(KJ'lEVElQEQlHQQHZBAQ

LY(1*4) LY(2,1) LY(3,1) LY(4,1) LY(5,1) LY(7,2) LY(8,2) LY(9,2) LY(10,2)
Y(11,2) LY(12,2) LY(13,2) LY(14,2) LY(16,3) LY(17,3) LY(19,4) LY(20,4)  LY(22,5)
LY (23,5 LY(25 6) LY(26.6) LY(27.6) LX(1,1) LX(2,1)LX(3,1) [X(4,1) LX(51)

6,1) BE(1,2) BE(1,3) BE(L4) BE(25) BE(2,6) BE(34) BE(5,6) BE(6.2)
3.1) GA@41) GA®.1

o

Covariance Matrix

THA SOOAL  BENGUSH MATH  SOENCE IQsL

THA 12.75
SOOAL 7.86 12.68

ENGLISH 4.71 5.70 15.20
MATH 3.86 3.33 2.12 6.86

SOENCE 7.37 6.81 6.39 4.34 16.17
IQSL 1.10 1.14 1.15 0.41 1.47 0.96
102 152 1.80 1.48 0.99 2.60 0.77
1063 1.13 151 1.46 0.88 2.43 0.58
1054 1.47 1.60 1.08 0.77 1.77 0.69
105 1.33 1,53 1.01 0.82 1.88 0.45
| 1.58 1.87 2.07 1.02 2.11 0.45
| 1.30 1.64 1.58 1.23 1.95 0.50
108 0.92 1.22 1.04 0.41 1.14 0.49
109 0.98 1.14 151 0.62 114 0.17
KAl 2.00 2.48 1.20 0.94 2.62 0.68
EoY 2.06 2.38 1.85 1.22 3.48 0.84
53 2.53 2.30 1.83 1.40 3.06 1.10
O 2.26 2.09 0.90 1.43 2.47 0.80
X5 2.33 157 0.55 0.87 1.94 0.75
% 2.19 2.09 1.80 1.05 1.87 0.98

1.36 1.39 0.45 0.74 1.63 0.63
B 2.30 2.29 1.83 1.22 2.29 0.86
B 2.69 3.14 2.37 1.40 2.75 1.06
ARl 2.13 1.16 2.01 1.42 2.66 0.76
AR 1.70 0.61 2.09 1.03 157 0.47
A3 1.80 1.07 1.65 1.25 1.68 0.69
ABA 2.20 2.03 2.35 1.05 3.00 0.86
MBL 3.64 3.83 3.27 1.01 4.12 1.29
M2 4.33 4.47 2.85 2.22 417 1.85
MXS3 4.30 4.98 2.74 2.53 4.99 1.95
MSA 3.19 3.73 112 2.01 3.41 1.64
Rﬁ% 5.70 6.55 5.04 2.81 7.43 2.09
4.36 5.75 3.64 2.77 5.90 1.63
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Covariance Matrix
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AR A3 A ML
AR 8.94
AR 5.41 11.00
ACHA 3.96 5.79 9.47
MCBL 4.19 4.64 452 15.81
MB 436 5.85 5.91 13.96
M3 4.54 5.83 6.59 14.70
M4 2.01 5.29 4.58 9.74
M5 5.33 5.91 6.90 16.50
MB6 5.45 5.76 6.49 14.72

Covariance Matrix

M3 MB M3

MS4 32.15
M55 10.90 30.44
M5 8.91 24.37 20.31

Number of Iterations = 5
LISREL Estimates (Maxinum Likelihood)

Measurement Equations

ME2

23.29
17.80
14.76
18.07
1551

THAI = 2.64' ACHEVE + 0.25*EQ2, Errorvar.= 7.76 , Ry = 0.39

(0.13) (0.56)
1.96 13.81
SOCIAL = 3.30*ACHIEVE, Errorvar.= 557 , Ry = 0.56
(0.27) (0.66)
12.23
ENGUSH = 2.50*ACHIEVE, Errorvar.= 11.10, Ry = 0.27
(0.26) (0.71)
9.78 15.64
MATH = 1.58*ACHIEVE, Errorvar.= 522 , Ry = 0.24
(0.16 (0.33)
10.0 15.86
SOENCE  4.06*ACHIEVE, Errorvar.= 538 , Ry = 0.67
(0.37) (0.75)
11.00 7.21
IQS1 = 0.59%1Q, Errorvar. 058 , Ry 0.39
(0.040)
14.52
IQ2 = 0.95%1Q, Errorvar.= 112 , Ry =047
(0.066) (0.081)
14.37 13.76
IQS3 = 0.91*1Q, Errorvar.= 1.16 Ry 043
(0.072) (0.080)
1251 14.55
IQA4 = 0.91*1Q, Errorvar.= 1.24 Ry = 0.42
(0.066) (0.084)
13.63 14.76
IQS5 = 0.87*1Q, Errorvar.= 0.89 Ry 048
(0.070) (0.062)
12.44 14.25
IQS6 = 0.90*IQ, Errorvar.= 1.26 , Ry =041
(0.073) &0.085)
12.35 4.89
IQS7 = 0.91*1Q, Errorvar.= 144 Ry 0.38
(0.076) (0.095)
12.01 15.10
IQS8 = 0.71*IQ, Errorvar.= 1.00 Ry 035
(0.061) (0.066)

11.55 15.18

ME3

24.25
11.48
21.65
20.79
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QB9 =0.45*1Q, Errorvar= 130 , Ry =0.15

(0.057) (0.079)
7.96 16.42
BBl =207*EQ1, Errorvar.= (2)%% 1Ry =0.69
9.98
BEX® ; 221*EQ1, Errorvar.= 341 1 Ry = 0.64
(0.11) (0.24)
20.29 14.17
BEB3 : 290*EQ1, Errorvar. m1.11 1 Ry 0.90
(0.13) 0.27
21.90 4.08
B 2.36*EQR Errorvar.=296 1 Ry 0.66
(0.23)
13.03
BEX® =220"EQ2, Errorvar.= 3.20 1 Ry = 0.61
(0.11) (0.23)
20.60 13.89
BX =2.28*EQ2, Errorvar.= 425 , Ry = 0.56
(0.12) 0.29
19.34 14.49
B =163*EQ3, Errorvar.= 220 , Ry = 0.54
0.15
15.06
BB : 295*EQ3, Errorvar.=356 , Ry 0.70
(0.15) (0.28
19.83 12.94
BEX® =2.88EQ3, Errorvar,= 357 1 Ry 0.69
(0.15) (0.27)
19.75 13.13
ARBL * 209*AQ, Errorvar.= 227 , Ry = 0.76
(0.47)
4.83
AR 1. 31*AQ, Errorvar.= 6.8% 5 0.32
(0.11 0.39
I, 53
AXB3 =1.62*AQ, Errorvar.=6.76 , Ry 0.39
(0.13) 0.48
12.26 13.95
ABA 0 1.70°AQ, Errorvar.' 4.69 , Ry = 0.50
(0.13 (0.52)
13.3 9.05
MXEL m3.03*MQ, Errorvar.= 6.64 , Ry = 0.58
(0.14) 0.44
21.03 14.95
ME2 3.76*MQ, Errorvar.= 9.24 , Ry = 0.60
(0.17 0.62
21.6 14.79
MXE3 m3.88*MQ, Errorvar.= 9.15 , Ry = 0.62
(0.18) 0.63
22.11 14.46
M3 3.42*"MQ Errorvar.' 20.48, Ry = 0.36
(0.22) (1.27)
15.44 16.16
M =4.14MQ, Errorvar.! 13.18, Ry = 0.57
(0.20) (0.88)
20.61 14.96
. 4.07"MQ, Errorvar. = 12.64, Ry = 0.57
(0.20) (0.84)
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20.66 14.97

Structural Equations

ACHEVE = 0.53*1Q + 0.045*EQ1 - 0.070*EQ2, Errorvar.= 0.37 Ry =c.44
(0.064) (0.055) (0. 068) (0.059)
8.17 0.81 -1.02 6.26
IQ = 0.4EQB + 0.19*AQ, Errorvar.= 0.78 1 Ry = 0.28
(O 068) (0. 049) g/ il)
7.01 3.76 37
= 040*EQ2 + 0.55*MQ, Errorvar.= 0.34 1 Ry = 0.72
(0.12) (0.12) (0.041)
3.32 4.56 8.27
= 094*MQ, Errorvar.= 014 1 Ry = 0.87
(0.045) (0.027)
21.00 5.09
= 1.08*AQ, Errorvar= 129 , Ry = -0.35
(O 081) (0.22)
13.33 6.01
AQ = - 0.76%1Q - 6.72EXB + 7.78*MQ, Errorvar.= 094 , Ry = 0.43
(0.27) (1.47) (1.53) (0.95)
-2.83 -4.56 5.08 0.99
Reduced Form Equations
ACHEVE = 0.30*MQ, Errorvar.= 0.57, Ry = 0.14
(0.042)
7.11
1Q = 0.62*MQ, Errorvar.= 0.70, Ry = 0.35
(0.057)
10.83
BL = 0.93*MQ, Errorvar.= 0.36, Ry = 0.70
(0.048)
19.44
B2 = 0.94*MQ Errorvar.= 0.14, Ry = 0.87
(0.045)
21.00
KB = 0.99*MQ, Errorvar.= 0.043, Ry = 0.96
(0.050)
19.26
A = 0.80'MQ Errorvar.= 0.86, Ry = 0.48
(0.057)
15.52
Correlation Matrix of Independent Variables
MQ
1.00
Covariance Matrix of Latent Variables
ACHEVE IQ BL B2 BB ie)
ACHEVE 0.66
I 0.56 1.08
%1 0.29 0.57 1.22
B2 0.28 0.58 0.93 1.02
E3B 0.25 0.52 0.89 0.90 0.96
A0 0.29 0.58 0.82 0.83 0.73 1.64
M 0.30 0.62 0.93 0.94 0.96 0.89

Covariance Matrix of Latent Variables

M
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Yo) 1.00

Goodness of Fit Statistics

- ) Degrees of Freedom = 441
Minimum Fit Function Chi-Square = 1073.10 (P = 0.0)

Normal Theory Weighted Least Squares Chi-Square = 1038.33 (P = 0.0)
Chi-Square Difference with 0 Degree of Freedom =0.00 (P = 1.00)
Estimated Non-centrality Parameter (NOP) = 597.33
N Percent Confidence Interval for NOP = (507.07 ; 695.29)

Minimum Fit Function Value = 1.87
Population Discrepancy Function Value (FO) = 1.04
0 Percent Confidence Interval for FO = (0.88 ; 1.21)
Root Mean Square Error of Approximation (RVEEA) = 0.049
0 Percent Confidence Interval for RVEEA = (0.045 ; 0.052)
P-Value for Test of Close Fit (RVEEA < 0.05) =0.73

Expected Cross-Validation Index (ECVI) = 2.22
0 Percent Confidence Interval for ECM = (2.07 ; 2.39)
ECM for Saturated Model = 1.95
ECM for Independence Model = 71.63

Chi-Square for Independence Model with 528 Degrees of Freedom = 41120.51
Independence AIC = 41186.51
Model AIC = 1278.33
Saturated AIC = 1122.00
Independence CAIC = 41363.26
Model CAIC = 1921.06
Saturated CAIC = 4126.78

Normed Fit Index (NFI) = 0.97
Non-Normed Fit Index (NNF) = 0.98
Parsimony Normed Fit Index (PNF) = 0.81
Comparative Fit Index (CFl) = 0.98
Incremental Fit Index (IFI) = 0.98
Relative Fit Index (RFl) = 0.97

Critical N (QY = 275.89

Root Mean Square Residual (RVR = 0.45
Standardized RVR = 0.044
Goodness of Fit Index (GFl) = 0.90
Adjusted Goodness of Fit Index gAGFI) = 0.87
Parsimony Goodness of Fit Index (PGH) = 0.71

The Modification Indices Suggest to Add an Error Covariance
Between and Decrease In Chi-Square New Estimate

IQS1 MATH 8.1 -0.21
I SOBENCE 8.2 0.38
1QS7 VATH 12. 0.41

Factor Scores Regressions

ETA

THA SOOAL  BNGUSH MH  SCENCE IQSL
ACHEVE 0.01 0.09 0.02 0.03 0.10 0.02
% 0.00 0.02 0.00 0.01 0.02 0.14

0.00 0.00 0.00 0.00 0.00 0.00
Fo3 0.00 0.00 0.00 0.00 0.00 0.01
Ee 0.00 0.00 0.00 0.00 0.00 0.00
) 0.00 0.00 0.00 0.00 0.00 0.00

ETA

1082 1083 1054 IS5 IQS6 IQs7
ACHEVE 0.01 0.01 0.01 0.02 0.02 0.01
| 0.07 0.12 0.08 0.16 0.17 0.08
%1 0.00 0.00 0.00 0.00 0.00 0.00
Ze2 0.00 0.01 0.00 0.01 0.01 0.00
3 0.00 0.00 0.00 0.00 0.00 0.00
) 0.00 0.00 0.00 0.01 0.01 0.00
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E - -
A 6.07
Correlation Matrix of ETA and KSI
ACHIEVE 1Q EQL EQ2
ACHIEVE 1.00
I 0.66 1.00
EQL 0.33 0.50 1.00
EQ2 0.34 0.55 0.83 1.00
E 0.31 0.51 0.82 0.91
A 0.28 0.44 0.58 0.64
0.37 0.59 0.84 0.93
[ Correlation Matrix of ETA and KSI
MQ
MY 1.00
PSI .
Note: This matrix is diagonal.
ACHIEVE 1Q EQL EQ2
0.56 0.72 0.28 0.13
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THAI SOCIAL ENGLISH MATH
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Total and Indirect Effects
Total Effects of KSI on ETA
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7.1
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EQ1 0.93
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19.44
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? (0.0525
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AQ 0.89
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¢ (0.052S
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1.54
(-4.42)
Total Effects of ETA on ETA
ACHIEVE 10 EQL EQQ EQ3 AQ
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EQS1 1.91
EQS? 2.05
EQS3 2.69
EQS4 2.22
EQSS 2.07
EQS6 2.14
EQST 1.56
EQS8 2.82
EQS9 2.76
AQS1 1.86
AQS? 1.16
AQS3 1.44
AQS 4 1.51

Completely standardized Total Effects of KSI on Y

MQ
THAI 0.29
SOCIAL 0.28
ENGLISH 0.19
MATH 0.18
SCIENCE 0.30
1051 0.37
10S2 0.40
1053 0.39
1054 0.38
10S5 0.41
10S6 0.38
10S7 0.37
1058 0.35
10S 9 0.23
EQSL 0.70
EQS? 0.67
EQS3 0.80
EQS4 0.75
EQS5 0.72
EQS6 0.69
EQS7 0.72
EQS8 0.82
EQS9 0.81
AQS1 0.60
AQS2 0.39
AQS3 0.43
AQS 4 0.49

Time used: 0.741 Seconds
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Chi-Square=972.89, df=444, p-value=0.00000, RMSEA=0.046
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AQS2 AQS3 AQS4 MQSL MQS2 MQS3
S2 8.94
S3 5.41 11.00
S4 3.96 5.79 9.47
S1 4.19 4.64 4.52 15.81
52 4.36 5.85 5.91 13.96 23.29
3 4.54 5.83 6.59 14.70 17.80 24.25
2.01 5.29 4.58 9.74 14.76 11.48
SH 5.33 5.91 6.90 16.50 18.07 21.65
S6 5.45 5.76 6.49 14.72 15.51 20.79
Covariance Matrix
MQS4 MQS5 MQS6
M 32.15
MQS5 10.90 30.44
MQS6 8.91 24.37 29.31
Number of Iterations = 4
LISREL Estimates (Maximum Likelihood)
Measurement Equations
THAI = 0.66*ACHIEVE, Errorvar.= 7.34 , Ry = 0.43
(0'5623
13.0
SOCIAL = 0.75*ACHIEVE, Errorvar.= 5.34 , Ry = 0.58
(0.052 (0.64)
14.61 8.32
ENGLISH = 0.57*ACHIEVE, Errorvar.= 10.96, Rj = 0.28
(0.054) (0.702)
10.71 15.5
MATH = 0.35*ACHIEVE, Errorvar.= 5.27 , Ry = 0.23
(0.033) (0.332}
10.68 15.8
SCIENCE = 0.88*ACHIEVE, Errorvar.= 6.15 1 Ry = 0.62
(0.069) (0.70)
12.74 8.74
IQS1 = 0.59*1Q, Errorvar.= 0.46_ 1 Ry = 0.52
? ? (0.037) y
12.51
IQS2 = 0.84*1Q, Errorvar.= 1.06 Ry = 0.49
(0.058) (0.074)
14.47 14.38
IQS3 = 0.74*1Q, Errorvar.= 1.28 Ry = 0.38
(0.056) (0.082)
13.18 15.66
IQS4  0.80*1Q, Errorvar.= 1.21 Ry = 0.43
(0.058) (0.079)
13.91 15.31
QS5 = 0.77*1Q, Errorvar.= 0.88 , Ry = 0.49
(0.057) (0.062)
13.54 14.13
IQS6 = 0.82*1Q, Errorvar.= 1.17 Ry = 0.45
(0.064) (0 084)
12.79 13.84
IQS7 = 0.80*1Q, Errorvar.= 1.41 Ry = 0.40
? (0.064)Q 0.096) /
12.56 14.65
0S8 0.60*1Q, Errorvar.= 1.03 Ry = 0.33
(0.048) (0.064)
12.47 16.03
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EQST

EQS8

EQS9

AQS1

AQS2

AQS3

AQS4

MQS1

MQS2

MQS3

MQS4

MQS5

0.41*1Q, Errorvar.= 1.28
0.079

4.69*MQ, Errorvar.= 7.47

(0.19)

(0.65)

1

(0.051) .
8.00 16.22
2.06*EQ, Errorvar.= 3.38 , Ry
(0.22)
15.46
2.10*EQ, Errorvar.= 4.98
(0.11 (0.30)
18.7 16.34
2.74*EQ, Errorvar.= 4.07
(0.14) (0.27)
19.60 14.89
2.35*EQ, Errorvar.= 3.28
(0.12) (0.22)
19.21 15.04
2.17*EQ, Errorvar.= 3.49 1
(0.11) (0.23)
19.72 15.36
2.30*EQ, Errorvar.= 4.45
(0.13) (0.29)
17.71 15.56
1.63*EQ, Errorvar.= 2.17 1
(0.092) (0.14)
17.75 15.46
2 .91*EQ, Errorvar.= 3.75
(0.14) (0.26)
20.35 14.30
2.82*EQ, Errorvar.= 3.82
(0.14) (0.26)
20.09 14.52
2.34*AQ, Errorvar.= 2.26
(0.46)
4.86
I. 39*AQ, Errorvar.= 6.20 ,
(0.12) (0.39)
I, 25 15.78
1.78*AQ, Errorvar.= 6.96
(0.15) (0.48)
12.17 14.42
1.91*AQ, Errorvar.= 4.72
(0.14) (0.51)
13.44 9.20
3.39*MQ, Errorvar.= 4.34
(0.13) (0.30;
25.18 14.2
4.11*MQ, Errorvar.= 6.42
(0.16) (0.46)
25.06 13.91
4.39*MQ, Errorvar.= 4.99 1
(0.16) (0.37)
27.20 13.60
. 3.60*MQ, Errorvar.= 18.81,
(0.22) (1.25)
15.99 15.02
. 4.86*MQ, Errorvar.= 6.89
(0.18) (0.56)
26.30 12.20

. Ry =0.16

0.55

0.46

0.64

0.54

0.54

0.69

0.73

0.72

0.75
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25.21 11.55

Structural Equations

ACHIEVE = 1.84*1Q - 0.42*EQ + 0.55*MQ, Errorvar.= 7.53 , Ry = 0.42
(0.20) © (0.31) = (0,30 1,03)
0020  -1.38 1.8
| = J.086%EQ + 0.091440 + LSIMQ, Errorvarz 0.97 , Ry = 032
? (0.10) ? (0.058) ¢ (0.11 % y
0.3 1.56 4.97 85
EQ = 00600 + 080'WQ, Errorvars 025 Ry = 0.74
(0.033) ~ (0,052 (0.028)
2.09 15.33 9.03
AQ = 0.76*MQ, Errorvar.= 0.72 , Ry = 0.44
(0:049) (0.091)
15.66 7.97

Reduced Form Equations
ACHIEVE = 1.43*MQ, Errorvar.= 10.84, Ry = 0.16
(0.18)

8.07
| = 0.67*MQ, Errorvar.= 0.98, Ry = 0.32
? (0.057)Q )

11.86
E = 0.85*MQ, Errorvar.= 0.25, Ry = 0.74
? 0007 )

17.97
A = 0.76*MQ, Errorvar.= 0.72, Ry = 0.44
¢ (0.049)Q k

15.66

/ Correlation Matrix of Independent Variables
MQ
1.00
Covariance Matrix of Latent Variables

ACHIEVE 10 EQ AQ M
ACHIEVE 12.90
I 2.75 1.43
E 1.16 0.60 0.97
A 1.20 0.58 0.69 1.30

1.43 0.67 0.85 0.76 1.00

Goodness of Fit Statistics

Degrees of Freedom = 444
Minimum Fit Function Chi-Square = 996.09 (P = 0.
Normal Theory Weighted Least Sguares Chi-Square =972.89
Chi-Square Difference with 0 Degree of Freedom = 0.00 (P
Estimated Non-centrality Parameter (NCP) = 528.89
90 Percent Confidence Interval for NCP = (442, 58 ; 622.93)

Minimum Fit Function Value = 1.73

Population Discrepancy Function Value FO} =0.92
90 Percent Confidence Interval for FO = (0.77 ; 1.08)
Root Mean Square Error of pf)roxrmatron EAJ = 0.046
90 Percent Confidence Interval for RMSEA = (0.042 ; 0.049)
P-Value for Test of Close Fit (RMSEA < 0.05) =0.97

Expected Cross-Validation Index (ECVI) = 2.10
90 Percent Confidence Interval for ECVI = (1.95 ; 2.26)
ECVI for Saturated Model = 1,95
ECVI for Independence Model = 71.63

330



Chi-Square for Independence Model with 528 Degrees of Freedom = 41120.51

Independence AIC = 41186.51
Model AIC = 1206.89
Saturated AIC = 1122.00
Independence CAIC = 41363.26
Model CAIC = 1833.55
Saturated CAIC = 4126.78

Normed Fit Index NFI\PN_ 0.98

Non-Normed Fit Index )V .98
Parsimony Normed Fit Index PNFI) = 0.82
Comparative Fit Index (CFI) = 0.99
Incremental Fit Index (IFI) = 0.99
Relative Fit Index (RFI) = 0.97
Critical N (CN) = 299.01

0.41

Root Mean Sguare Residual (SMRI =
Standardized RMR = 0.04

Goodness of Fit Index (GFI) =0

Adjusted Goodness of Fit Index (AGFI

Parsimony Goodness of Fit Index (PGFI

)

n o=

0.88
0.72

The Modification Indices Suggest to Add an Error Covariance

Between and
EQS3

Decrease 'in Chi-Square
MQS3 8.4

Factor Scores Regressions

ETA

THAI  SOCIAL  ENGLISH MATH

ACHIEVE 0.07 0.38 0.10 0.11

| 0.01 0.01 0.01 0.00

E% 0.00 0.00 0.00 0.00

A -0.01 0.03 -0.01 0.00
ETA

10S2 1053 0S4 1085

ACHIEVE ~ .8 -0.13 0.08 0.13

| 0.1 0.06 0.07 0.19

E 0.02 0.00 0.00 0.00

A 0.00 0.00 000 0.00
ETA

0S8 1059 EQSL FQS?

ACHIEVE 0.06 -0.07 0.00 -0.01

| 0.08 -0.15 0.00 0.00

E% 0.00 0.00 0.03 0.00

A 0.00 0.00 0.01 0.00
ETA

EQS5 EQS6 EQST FQS8

ACHIEVE 0.01 0.00 0.01 0.01

| 0.00 0.00 0.00 0.01

E 0.03 0.03 0.02 0.05

A 0.00 0.00 0.03 0.01
ETA

AQS? AQS3 AQSA MQSL

ACHIEVE -0.03 -0.01 0.00 0.00

| 0.00 0.00 0.00 0.00

E 0.00 0.00 0.00 0.01

A 0.03 0.00 0.12 0.00
ETA

MQSt MQS5 MQS6

New Estimate
-0.52

SCIENCE
0.40

OOO
coo]
oo O

10S6

[es e Y an Y )
OO N
[es e EoN o)

EQS3
0.01

OoOoOoO
oooOoO
OO

EQS9

'
coo
CoOoOO
oo

MQS2

ODOoOOO
OODOoOOoOO
[e) Y e Y an)

10S1

oDooO
oo who
ool

1057
0.04

OO O
(e Ya)
OO O

EQSt

-0.02

Coo
coo
oRrO

AQSL

OODOOO
NOOO
o000

MQS3
0.00

OoDoo
oo OoO
OO
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ACHIEVE
|

2

AQ

MQ
M
MQ
M
MQ

MQ

Standardized Solution

THAI
SOCIAL
ENGLISH
MATH
SCIENCE
1051
1052
1053
1054
10S5
10S 6
10S7
1058
109
é%s1
EQS?
EQS3
EQS4
EQS5
EQS6
EQST
EQSS
EQS9
AQS1
AQS2
AQS3
AQS4

KSI

KS

KSI

KSI

KS

KS

1052
0.00

1QS8

EQS5

0.00

AQS2

MQS4
0.05

LAMBDA-Y

ACHIEVE

wWEk O
P

PO Nw
e RN Neorl ol ep]

LAVBDAX

SOCIAL
0.00

1053
0.00

1059
0.00

EQS6
0.00

AQS3
0.00

MQS5
0.03

OOOOOOOD—\OI , , ,
e T T
B NOoOOuOuwwooo !
P O PO OO OO ' ' '

ENGLISH

EQ

0.00

1054
0.00

EQS1
0.00

EQST
0.00

AQS4
0.00

MQS6
0.06

PR PR . . \ . . . p ,
Ve e e e e T e T P T T T
~NoooO NP LWNOO

1 O~ I BP0 ' ' ' ' 0 ' O ' ' 0 ' '

AQ

MATH
0.00

10S5
0.00

EQS2
0.00

EQS8
0.00

MQS1
0.04

— oo o
COGOOO —d 1 + 4

RN N
- - - FE T T T T T T T T T T S T T T R T T I

SCIENCE
0.00

10S 6
0.00

EQS3
0.00

EQS9
0.00

MQS2
0.04

1051
0.00

10S7
0.00

EQS4

AQS1

0.00

MQS3
0.03
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MQ
MQS1 3.39
MQS2 4.11
MQS3 4.39
MQS4 3.60
MQS5 4.86
MQS6 4,69
BETA
ACHIEVE 1Q EQ
ACHIEVE 0.61 0.12
I% - - 0.07
E -
AQ
GAMMA
MQ
ACHIEVE 0.15
I% 0.44
E 0.81
AQ 0.67
Correlation Matrix of ETA andlKSI
ACHIEVE |0 EQ
ACHIEVE 1.00
| 0.64 1.00
é% 0.33 0.51 1.00
A8 0.29 0.43 0.62
M 0.40 0.56 0.86
PSI
Note : This matrix is diagonal
ACHIEVE 1Q EQ
0.58 0.68 0.26

Regression Matrix ETA on KS

MQ
ACHIEVE 0.40
| 0.56
E% 0.86
AQ 0.67

Completely Standardized Solution
LAMBDA-Y
ACHIEVE 10 EQ

THAI
SOCIAL
ENGLISH
MATH
SCIENCE
1QS1
1QS2
1QS3
1QS4
1QSS
1QS6
1QS7
1QS8
10S9
EQS1
EQS2
EQS3
EQS4
EQS5

oo oOo
O oowoo

6
N
5
A
N

ODOOODODODODODODOO
e e T T T oo
FaNN S NopNop RN NopNop RN Bl
P O ~NW OO NOMN ' ' '

oo oo
Pt T

~—~Jocoo> I

CIOOCO + + v 1 o
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AQ

AQ

O
oo
~No

1.00

AQ
0.56

(Standardized)

AQ



H N - - - -
aln - - - -
o - - - -
H N - -
v - o ::
A - - .- - -
LAVEDAX
BETA
AHBE  1Q 0
BE - 061 46%%
GMWA
BE
Correlation Matrix of ETA and KSI
ACHIEVE  1Q EQ
ACHIEVE 1.00
I 0.64 1.00
E 0.33 0.51 1.00
AQ 0.29 0.43 0.62
MQ 0.40 0.56 0.86
PSI _ o
Note: This matrix is diagonal.
ACHIEVE 1Q EQ
0.58 0.68 0.26
THETA-EPS
THAI SOCIAL ENGLISH
THAI 0.57
SOCIAL 0.12 0.42
ENGLISH - - - - 0.72
MATH 0.10 .- .-
SCIENCE - - -0.12
1QS1 - -
1QS2
1QS3
1QS 4
1QS5
10S 6
1QS7
1QS8
1QS9
EQSL
EQS2
EQS3
EQS4 - -
EQS5 0.07
EQS6 - -

EQS7

AQ

AQ

b6

0.56

MATH

0.10

SCIENCE

0.38
0.09
0.11

' o
o oo
- P

1QS1

0.48

. .
—_ —_— =
W ook, ' '
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EQSS
EQS9
AQS1
AQS2
AQS3
AQS4

THETA--EPS
1052

1052 0.51
1053 0.12
1054 0.09
10S5 .
10S 6 -0.04
10S7 -
10S8
1059
EQS1
EQS?
EQS3
EQS4
EQS5
EQS6
EQST -
EQS8 -0.06
EQS9 o
AQS1
AQS2
AQS3
AQS4

THETA-+EPS
1058

1058 0.67
1059 o
EQS1
EQS?
EQS3
EQS4
EQS5
EQS6
EQST
EQS8
EQS9
AQS1
AQS2
AQS3
AQS4

THETA-+EPS
EQS5

EQS5 0.43
EQS6 o
EQST 0.06
EQS8 .
EQS9

AQS1 -
AQS2 0.10
AQS3 -
AQS4

THETA-1 B
AQS2

AQS2 0.71
AQS3 0.20
AQS4 S
THETA-+DELTA
MQS1

Mg 0.27

-0.08

10S3

0.62

TQS9

0.84

EQS6

oo
o
O

1054

0.57

EQST

0.46

AQS4

MQS3

10S5

0.51

EQS2

EQSS

MQS4

10S6

0.55
0.11

0.54

EQS3

0.36

0.07
EQSY

0.33

-0.10

MQS5

1QS7

0.60
0.18

EQS4

0.12

0.09

AQS1

-0.15

MQS6
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MQS2
MQS3
MQS4
MQS5
MQS6

ACHIEVE

i
K0

Total and Indirect 1

ACHIEVE

EQ

AQ

ACHIEVE

EQ

AQ

ACHIEVE

EQ

AQ

-0.11
-0.05

Regression Matrix ETA on KSI

MQ

»

oo o
Sy oo o
~Noooo

0.28
- - 0.21
.- 0.15
-0.07 -
-0.15

Total Effects of KSI on ETA

MQ

1.43
0.18
( 8.0%

0.67
(0.06)
11.86

0.85

8

0.76
(0.05)
15.66

Indirect Effects of KSI on ETA

MQ

Total Effects of ETA on ETA

ACHIEVE

1Q EQ
1.84 -0.26
(0.20) (0.35)
9.02 -0.76
0.09
(0.10)
0.83

coo
oo ©

(Standardized)

Largest Eigenvalue of B*B' (Stability Index) is  3.562

oo

o w

336



Indirect Effects of ETA

ACHIEVE 1Q
ACHIEVE

EQ
AQ

on ETA
EQ

Total Effects of ETA on Y

ACHIEVE 10
THAI 0.66
SOCIAL 0.75
(0.05)
14.61
ENGLISH 0.57
(0.05)
10.71
MATH 0.35
(0.03)
10.68
SCIENCE 0.88
(0.07)
12.74
1051 —-
1052 __
1053
1054
10S5
1056 -
1057 _.
1058
1059 ——
EQSL

(0%%%
9.02
1.39
(0.14)
9.73

03]
1
8.23

0.65
(0.08)
7.80

1.62
(0.17)
9.79

0.59

EQ
-0.17
-0.76
-0.20

0.06
0.83

0.07
(0.08)
0.83

0.07
(0.08)
0.83

0.07
(0.08)
0.83

0.07
(0.08)
0.83

0.05
(0.06)
0.83

0.03
(0.04)
0.83

2.06

0.15
1.3

0.10

1.67

0.08
(0.05)
1.67

0.07
0.04
08

0.08
(0.05)
1.67

0.08
(0.05)
1.66

0.06
(0.03)
1.66

0.04
(0.02)
1.65

0.14
(0.07)
2.09
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EQS2 2.10 0.14
(0.11% (0.07)

18.7 2.09

EQS3 - - o 2.74 0.19
(0.14) (0.09)

19.60 2.09

EQS4 ‘. - 2.35 0.16
(0.12) (0.08)

19.21 2.08

EQS5 _ - 2.17 0.15
(0.11) (0.07)

19.72 2.08

EQS6 - —. 2.30 0.16
(0.13 (0.08)

17.71 2.09

EQS7 _ . 1.63 0.11
(0.09) (0.05)

17.75 2.09

EQS8 L - 2.91 0.20
(0.14) (0.10)

20.35 2.09

EQS9 - | 2.82 0.19
(0.14 (0,09)

20.09 2.0

AQS1 - - X 2.34
AQS2 _» A 1 JE 1.39
(0.12)

11.25

AQS3 - " A 1.78
(0.15)

12.17

AQS4 1.91
(0.14)

13.44

Indirect Effects of ETA on Y

ACHIEVE  1Q EQ AQ
THAI ~ - 1.21 -0.17 0.10
(0.13) (0.23) (0.07)
9.02 -0.76 1.37
SOCIAL . 1.39 -0.20 0.11
(0.14) (0.26) (0.08)
9.73 -0.76 1.38
ENGLISH - 1.05 -0.15 0.09
(0.13) (0.20) (0.06)
8.23 -0.75 1.36
MATH -~ 0.65 -0.09 0.05
(0.08) (0.12) (0.04)
7.80 -0.75 1.36
SCIENCE .. 1.62 -0.23 0.13
(0.17) (0.31) (0.10)
9.79 -0.76 1.37
IQSL - .. 0.05 0.06
(0.06) (0.03%
3 1.6
10S2 .- .. (0008)7 (00028
0.83 '1.6%



1053

1054 _-

1S5

105 6 ‘. -
1Qs7

1058

1059

EQSL

EQS? : e
EQS3 g

EQS4 ‘L .-
EQS5 —-

EQS6

EQST ‘-

EQS8 —

EQS9

AQS1

AQS2

AQS3
AQS4

Total Effects of KSI on Y

MQ

THAI (00.924
A
8.0;

0.06
(0.08)
0.83

0.07
(0.08)
0.83

( 0'0)7
0.08
0.83

( 0'0)7
0.08
0.83

0.07
(0.08)
0.83

0.05
(0.06)
0.83

0.03
(0,04)
0.83

0.07
0.04
08

0.08

0.07
1.67
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SOCIAL 1.08

ENGLISH 0.82

MATH 0.51

SCIENCE 1.26

1051 0.39

1052 0.56

1QS3 0.50

1QS4 0.54

1QS5 0.52

10S6 0.55

1057 0.54

1QS8 0.40

1QS9 0.28

EQS! 1, 74

EQS? 1.78

EQS3 2.33

EQS4 1.99

EQS5 1.84

EQS6 1.95

EQST 1.38



341

EQS8 2.47
(0.12)
20.42

EQS9 2.39
(0.12)
20.15

AQS1 1.78
(0.11)
15.66

AQS? 1.05
(0.11)

9.92

AQS3 1.36
(0.13)

10.68

AQS4 1.45

(0.11)
12.68

Standardized Total and Indirect Effects

Standardized Total Effects of KSI on ETA

MQ
ACHIEVE 0.40
| 0.56
E 0.86
AQ 0.67
Standardized Indirect Effects of KSI on ETA
MQ
ACHIEVE 0.25
1Q 0.12
EQ 0.05
AQ
Standardized Total Effects of ETA on ETA
ACHIEVE 1Q EQ AQ
ACHIEVE 0.61 -0.07 0.05
I% - - 0.07 0.09
E 0.08
AQ
Standardized Indirect Effects of ETA on ETA
ACHIEVE 1Q EQ AQ
ACHIEVE - - - - 0.04 0.05
I% - - - - - - 0.01
E
AQ
Standardized Total Effects of ETA on Y
ACHIEVE 1Q EQ AQ
THAI 2.36 1.44 -0.17 0.11
SOCIAL 2.71 1 66 -0.20 0.13
ENGLISH 2.06 1.26 -0.15 0.10
MATH 1.27 0.78 -0.09 0.06
SCIENCE 3.16 1.94 -0.23 0.15
1QS1 - - 0.70 0.05 0.06
1QS2 - - 1.00 0.07 0.09
1QS3 - - 0.88 0.06 0.08
1QS4 - - 0.96 0.07 0.09
1QS5 - - 0.92 0.06 0.08
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Completely standardized Indirect Effects of ETA on Y
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Time used:
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.23

.44

Chi-Square=58.43, df=46, p-value=0.10326, RMSEA=0.022
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AQS? 4.33 8.94
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THAI 2.13 1.70
SOCIAL 1.16 0.61
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9.65 13.36
0.86*1Q, Errorvar.= 1.03 , Ry = 0.33
(0.084) (0.069)
10.21 14.87
0.56*1Q, Errorvar.= 1.32 1Ry =0.14
(0.082) (0.082)
6.82 16.08
2.06*EQ, Errorvar.= 3.94 | Ry = 0.47
(0.29
13.6
09*EQ, Errorvar.= 5.62 1 Rj = 0.39
(0 13% (0.38
16.1 14.7
2.85*EQ, Errorvar.= 4.61 , Ry = 0.59
(0. 1625 (0.36)
17.5 12.84
2.63*EQ, Errorvar.= 2.97 , Ry = 0.66
(0.16 (0.255
16.0 11.6
2.45*EQ, Errorvar.= 3.12 1 Ry = 0.62
(0. 14%3 (0.25%
17.4 12.5
49*EQ, Errorvar.= 4.40 , Ry = 0.54
(0 17)3 (0.32)
14.8 13.76
66*EQ, Errorvar.= 2.49 , Ry = 0.48
(0 12% (0'2%
13.7 123
2.84*EQ, Errorvar.= 5.16 , Ry = 0.56
(0. 19% (0.49
14.9 10.5
2.94*EQ, Errorvar.= 4.47 1 Ry = 0.61
(0. 20)3 (0.52)
15.0 8.63
2.31*AQ, Errorvar.= 4.81 1 Ry = 0.48
(0.64)
7.56
0.88*AQ, Errorvar.= 8.35 , Rj = 0.072
(0.33) (0.65
2.66 128
1.75*AQ, Errorvar.= 8.48 | = 0.24
(0.24) (0. 9%
7.21 122
1.74*AQ, Errorvar.= 6.84 , Ry = 0.27
(0.23) (0.49)
7.55 13.84
2.65*ACHIEVE, Errorvar.= 89; 1Ry = 0.38
10.4
2.89*ACHIEVE, Errorvar.= 6.95 , Ry = 0.45
(0.23 (0.93)
12.44 7.51
1.74 *ACHIEVE, Errorvar.= 13.18, Ry = 0.14
(0.32) 0922}
5.48 14.3
1.82*ACHIEVE, Errorvar.= 4.56 , Ry = 0.33
(0.19) (0.46)
9.42 9.90
3.40*ACHIEVE, Errorvar.= 8.18 , Ry = 0.49
(0.46) (1.10
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7.43 7.43

structural Equations

= 0.077*1Q + 0.85'EQ, Errorvar.= 0.26_ , Ry = 0.71
. (0.075) (0.067) (0.067)
1.02 12.62 3.95
| = 039*MQ Errorvar.= 0.51 , Ry = 0.25
? (0.066) (0.088) Y
5.95 5.86
A = 0.84*MQ, Errorvar.= 0.20 , Ry = 0.77
R 0084 0:087)" "
9.98 2.26
ACHIEVE = 0.73*MQ + 0.55%1Q - 0.66*EQ - 0.14*AQ, Errorvar.= 0.30
(0.32) (0.11) (0.33) (0.29) (0.13)
2.60 5.13 -1.98 -0.50 2.33
Covariance Matrix of Latent Variables
MQ 1Q EQ AQ ACHIEVE
0.92
’I\/Q 0.40 0.69
E 0.72 0.29 0.83
A 0.77 0.34 0.61 0.85
ACHIEVE 0.30 0.43 0.05 0.22 0.69

TI

Goodness of Fit Statistics

Det{;rees of Freedom =46

Minimum Fit Function Chi-Square =59.07 (P = 0093)P

Normal Theory Weighted Least SBuares Chi-Square =58.43 5 = 0.10)

Chi-Square Difference with 0 Degree of Freedom =0.00 0)
Estimated Non- centrahty Parameter (NCP

90 Percent Confidence Interval for NCP = (0.0 ; 36.17)
Minimum Fit Function Value = 010
Population Discrepancy Function Value 3) = 0.022
90 Percent Confidence Interval for FO = (0.0 : 0.063%
Root Mean Square Error of Approximation ( MSEA% = 0.022
90 Percent Confidence Interval for RMSEA = (0.0 ; 0.037)
P-Value for Test of Close Fit (RMSEA < 0.05) = 1.00

Expected Cross-Validation Index (ECVI) = 1.89
90 Percent Confidence Interval for ECVI = (1.87 ; 1.93)
ECVI for Saturated Model = 1.95
ECVI for Independence Model = 71.63

Chi-Square for Independence Model with 528 Degrees of Freedom = 41120.51
Independence AIC = 41186.51
Model AIC = 1088.43
Saturated AIC = 1122.00
Independence CAIC = 41363.26
Model CAIC = 3846.83
Saturated CAIC = 4126.78

Normed Fit Index (NFI) =1.00

Non-Normed Fit Index (NNFI) = 1.00
Parsimony Normed Fit Index éPN ) = 0.087
Comparative Fit Index (CFl) = 1.00
Incremental Fit Index (IFI) = 1,00
Relative Fit Index (RFI) = 0.98

Critical N (CN) = 694.04

Root Mean Sguare Residual éRMRg
Standardized RMWR =

~ Goodness of Fit Index (GFI) = 0,99
Adjusted Goodness of Fit Index EAGFI{ = 0.93
Parsimony Goodness of Fit Index (PGFI) = 0.081
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ENGLISH 0.63 0.94
MATH -1.19 0.68
SCIENCE -0.48 1.30
Standardized Residuals
EQS4 EQS5
EQSA -0.53
EQSH -0.99 -0.17
EQS6 0.08 0.90
EQS7 0.49 0.00
EQS8 0.25 0.63
EQS9 0.00 0.51
AQSL -0.05 0.17
AQS2 -1.73 -1.65
AQS3 -1.81 -1.42
AQS4 -0.45 -0.68
THAI -1.48 -0.89
SOCIAL -1.31 -1.07
ENGLISH 1.15 1.16
MATH 0.04 -0.06
SCIENCE 0.66 0.51
standardized Residuals
AQSL AQS2
AQSL 1.88
AQS2 0.94 -0.79
AQS3 0.41 -1.02
AQS4 1.77 0.53
THA -1.22 0.52
SOCIAL -1.41 0.12
ENGLISH 1.23 1.49
MATH -0.19 0.50
SCIENCE 0.66 1.52
Standardized Residuals
ENGLISH MATH
ENGLISH -0.81
MATH -0.44 0.11
SCIENCE 0.36 0.70
Summary Statistics for standardized Residuals
Smallest standardized Residual=
Median standardized Residual=
Largest standardized Residual=
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-3.5
Standardized Residuals

The Modification Indices Suggest to Add an Error Covariance
Between and Decrease 'in Chi-Square New Estimate
ENGLISH  AQS2 17.2 1.74

Tl
Factor Scores Regressions
ETA
MQs! MQS2 MQS3 NS4 MQS5
M 0.09 0.04 0.06 -0.03 0.01
| 0.02 0.01 0.02 -0.02 0.02
A% 0.07 0.03 0.04 -0.03 0.00
ACHIEVE 0.04 0.04 0.03 0.01 0.03
ETA
1QS1 1QS2 1QS3 1QS4 1QS5
M -0.13 0.03 -0.08 0.04 0.10
| 0.04 0.13 -0.05 .09 0.18
A% -0.10 0.04 -0.04 0.04 0.08
ACHIEVE -0.08 0.04 -0.09 0.06 0.06
ETA
1QS7 1QS8 1QS9 EQSL EQS2
M 0.03 0.04 0.06 0.01 0.06
| 0.11 0.10 -0.16 0.02 0.05
A% 0.02 0.03 0.06 0.00 0.05
ACHIEVE 0.04 0.05 -0.08 0.05 0.06
ETA
EQS4 EQS5 EQS6 EQS7 EQS8
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M 0.04 0.10 0.02 0.01 0.03 0.01
| 0.00 0.05 -0.02 0.01 0.02 -0.03
A% 0.00 0.08 0.01 0.01 0.03 0.01
ACHIEVE -0.04 0.02 -0.03 0.02 0.00 -0.06
ETA
AQS1 AQS2 AQS3 AQS4 THAI SOCIAL
M 0.04 0.08 0.02 0.01 0.03 -0.01
| 0.01 -0.01 0.02 0.03 0.00 0.01
A% 0.11 -0.08 0.03 0.04 0.03 0.00
ACHIEVE 0.01 -0.01 0.03 0.04 0.02 0.08
ETA
ENGLISH MATH SCIENCE
0.01 0.01 0.03
VQ -0.01 0.02 0.01
A% 0.00 0.00 0.01
ACHIEVE 0.00 0.07 0.09
KSI
MQS1 MQS2 MQS3 MQs4 MQS5 MQS6
EQ 0.04 -0.01 0.03 -0.06 0.02 -0.05
KSI
1QS1 1QS2 1QS3 1QS4 1QS5 1QS 6
EQ -0.07 -0.03 -0.05 0.02 0.11 -0.03
KSI
|QS7 1QS8 1QS9 EQSI EQS2 EQS3
EQ 0.02 -0.05 0.03 0.05 -0.04 0.08
KSI
EQS4 EQS5 EQS6 EQS7 EQS8 EQS9
EQ 0.09 0.11 0.05 0.02 0.00 0.06
KSI
AQS!1 AQS2 AQS3 AQS4 THAI SOCIAL
EQ 0.02 -0.06 0.00 0.02 -0.04 - 8
KSlI
ENGLISH MATH SCIENCE
EQ 0.01 -0.01 — o
Tl
Standardized Solution
LAMBDA-Y
M 1Q AQ ACHIEVE
1 3.23
2 3.72 - -
MOS3 4.07 - -
54 2.33 - -
MOS5 4.10 - -
MOS6 3.88 - -
|0S1 - - 0.50
10S? 0.95
10S3 0.71
10S4 0.92
10S5 0.97
1Q0S 6 0.96
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LAVEDAX
EQSL 1.87
EQS2 1.90
EQS3 2.60
EQS4 2.39
EQS5 2.23
EQS6 2.26
EQS7 1.51
EQS8 2.58
EQS9 2.67
BETA
Y 1Q AQ
- 0.07 [
'I\/Q 0.46 - )
A% 0.88 - 2 =
ACHIEVE 0.84 0.55 -0.16
GAMVA
EQ
?/Q 0.81
!
ACHIEVE -0.72
Correlation Matrix of ETA and KS
9 1Q EQ
M 1.00
| 0.51 1.00
E 0.83 0.38 1.00
A% 0.88 0.44 0.73
ACHIEVE 0.38 0.63 0.07
PSI . o
Note: This matrix is diagonal.
M 1Q AQ
0.29 0.75 0.23
Tl
Completely standardized Solution
LAMBDA--Y
W 1Q Y
MQS1 0.82 -
2 0.77 .-
MOS3 0.83 - -
4 0.41 .-
MQS5 0.75 - -
MQS6 0.72 - -
1QS1 - - 0.51
|§82 0.65
10S3 0.49

ACHIEVE
AQ ACHIEVE
1.00
0.29 1.00
ACHIEVE
0.44
ACHIEVE
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Total and Indirect Effects
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Largest Eigenvalue of B*B1 (Stability Index) is

Indirect Effects of ETA on ETA

9.16
ACHIEVE 0.72
(0.272)

2.7

MQ

MQ 0.03
(0.03)

1.06

| 0.41
¢ (0.07)
6.18

A 0.87
. (0.09)
9.56

ACHIEVE 0.85
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10 0.01
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0.04 0.02
( 6.12& (34.921
1052 0.46 1.18 ‘
(0.07) (0.11)7
6.74 10.7
10S3 0.35 0.88
(0.06)7 (0.12)
5.6 7.66
1054 (000915 (011.%4
'6.7%; 10.8)7
1QS5 0.47 1.20 ~ -
(0.07) (0.12)]
7.14 10.1
10S6 0.47 119 - - - -
(0.07; (0.12)
6.7 9.66
1QS7 (000.4717 (011%0
'6.725 '9.423
1QS8 (oodg5 (000.89
'6.523 '9.98)
10S9 (000%3 (00038
'5.4% '6.8%
AQSL 2.01 0.15 2.31
(0.21) (0.16%)
9.56 0.9
A2 (002'56 (000'86 (003‘%8
'2.6% 0.9% '2.623
S
7.34 '0.9)7 1
e o @k
ot 6.9% 7.55
THAI (028§5 (012.22 -(%.%%) 2.65
'2.7% '6.2; -0.50
SOCIAL 2,45 -0.41 2.89
(0.90) (0.84) }0.23)
2,71 -0.50 2.44
ENGLISH 1.48 07 0.25 1.74
(0.54& (0.22) (0.50) (0.32)
2.7 84 0.50 5.48
VATH (01534 12: (%'%8) (3'%)
'2.6?3 " 0.50 9.42
SCIENCE 2.08 -0.49 3.40
(0.36) (0.97) (0.46)
2.82 5.84 -0.50 7.43
Indirect Effects of ETA on Y
MO 10 AQ ACHIEVE
MQSL 0.11 0.27
(0.10) (0.275
1.06 0.9
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ENGLISH 1.48 1.07 -0.25
(0.54% (0.22) (0.50)

2.7 4.84 — =

S N
'2.623 ( 5.5)7 (-0.56

SCIENCE 2.88 2.08 -0.49
(1.02£ (0.36) (0.972)

2.8 5.84 -0.5

Total Effects of KSI on Y
EQ

g

MQS? 3.40
MQS3 3.72
MQSA4 2.13
MQS5 3.74

MQS6 3.55

1QS2 0.39
1QS3 0.29
1QS4 0.38
1QS5 0.40
1QS6 0.40
1QS7 0.40
1QS8 0.30
1QS9 0.19

AQSL



AQS2 0.65
(0.25%

2.6

AQS3 1.29
(0.18%

7.3
AQS4 1.29
(0.152)

8.3

THAI 0.16
(0.262J

0.6

SOCIAL 0.17
(0'296

0.6

ENGLISH 0.10
(0.18%)

0.5

MATH 001.%1

( 0.6%

SCIENCE 0

(0.3%12

0.6

Tl
Standardized Total and Indirect Effects
Standardized Total Effects of KSI on ETA

EQ
M 0.83
| 0.38
A% 0.73
ACHIEVE 0.07
Standardized Indirect Effects of KSI on ETA
EQ
MO 0.03
| 0.38
A% 0.73
ACHIEVE 0.79
Standardized Total Effects of ETA on ETA
MQ 1Q AQ ACHIEVE
M 0.03 0.07
[ 0.47 0.03
A 0.90 0.06
ACHIEVE 0.98 0.61 -c116
Standardized Indirect Effects of ETA on ETA
M 1Q AQ ACHIEVE
M 0.03 0.00
| 0.01 0.03
A% 0.03 0.06
ACHIEVE 0.14 0.06
Standardized Total Effects of ETA on Y
M 1Q AQ ACHIEVE
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Completely standardized Indirect Effects of
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SOCIAL
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MATH

SCIENCE

Time used:

4,146 Seconds
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